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IMPORTANT: Show all the steps of your solution for each question.
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Question 1. [4 marks] Find the horizontal and vertical asymptotes of f(z) = 23:;_—_x:—1
Vertical asymtotes: MWI:‘-LM“\&L’/@LDC'—
Horizontal asymtotes: ML&.\W‘&‘:—Z/
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Question 2. [1.5 marks] Use the Squeeze Theorem to find lirgl+ \/Esin(iz).
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Question 3. [2 marks] Evaluate the following limit: ]i_I)r(x) .
z

ANBWer?: .usssssvsmvens ‘i_. ............................................

(-2 | Wad2)

}i::o J-—_')_(_—_—_ : -)u-aO A LW +2‘)
& z *
e W= = W)
e +2> PR
Lo Jod!
R s
- ‘IW‘ 'x+4+& oté +2



SPRING 2015, CALCULUS | 2015 TEST 1

4

Question 4. [4 marks] (a) Find the derivative of f(z) = zcosz + 3¢,
‘ Answer: . = A SINZ. +€,7Cﬁl ................. ‘
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(b) Write an equation of the tangent line to the curve y = xcosz + 3¢®” at the point (0, 3).

Equation of the tangent line: .......... ‘3=7¢+3 ........................
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Question 5. (2 marks] For which values of the constant c is the function A continuous

everywhere:
cxt+2ifr <1
g(m)_{2x+4ifx21
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Question 6. [1.5 marks] Show that the following function is not differentiable at 3.
—z+3ifzx <3
flz) =
z-3ifr>3

(Hint: use the definition of the derivative).




